* %

Plusrechnen (bis 2 000)

Addieren

Aufgabe 1 Aufgabe 2

1. 979 + 348 = 1. 573 + B03 =
2. 146 + 382 = 2. 916 + 247 =
3. 375 + 301 = 3. 639 + 412 =
4. 992 + 487 = 4. 718 + 317 =
5 762 + 439 = 5 962 + 951 =
6. 739 + 704 = 6. 906 + 648 =
7. 385 + 363 = 7. 983 + 862 =
8. 699 + 624 = 8. 998 + 803 =
9. 869 + 602 = 9. 819 + 361 =
10, 976 + 364 = 10. 835 + 548 =
Aufgabe 3 Aufgabe 4

1. 810 + 219 = 1. 756 + 688 =
2. 677 + 376 = 2. 950 + 453 =
3. 874 + 542 = 3. 415 + 367 =
4. 373 + 222 = 4. 931 + 746 =
51000 + 627 = 5 676 + 364 =
6. 954 + 596 = 6. 855 + 744 =
7. 825 + 672 = 7. 988 + 517 =
8. 870 + 730 = 8. 765 + 347 =
9. 970 + 633 = 9. 973 + 251 =
10. 673 + 569 = 10, 382 + 248 =
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* %

Plusrechnen (bis 2 000) | ANTWORTEN

Addieren

Aufgabe 1 Aufgabe 2

1. 979 + 348 = 1327 1. 573 + 503 = 1076
2. 746 + 382 = 1128 2. 916 + 247 = 1163
3. 375 + 301 = 676 3. 639 + 412 = 1 051
4. 992 + 487 = 1479 4. F18 + 317 = 1035
5 762 + 439 = 1201 5 962 + 951 = 1913
6. 739 + 704 = 1443 6. 906 + 648 = 1554
7. 385 + 363 = 748 7. 983 + 862 = 1845
8. 699 + 624 = 1323 8. 998 + 803 = 1 801
9. 869 + 602 = 1471 9. 819 + 361 = 1180
10, 976 + 364 = 1340 10. 835 + 548 = 1383
Aufgabe 3 Aufgabe 4

1. 810 + 219 = 1029 1. 756 + 688 = 1 444
2. 677 + 376 = 1053 2. 950 + 453 = 1403
3. 874 + 542 = 1416 3. 415 + 367 = 782
4 373 + 222 = 595 4. 931 + 746 = 1677
5 1000 + 627 = 1627 5 676 + 364 = 1 040
6. 954 + 596 = 1550 6. 855 + 744 = 1599
7. 825 + 672 = 1497 7. 988 + 517 = 1505
8. 870 + 730 = 1 600 8. 765 + 347 = 1112
9. 970 + 633 = 1603 9. 973 + 251 = 1224
10. 673 + 569 = 1242 10. 382 + 248 = 630
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